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The resulting position line must be plotted from the assumed posi,tic_m,‘not
from the D:R. position.

Example 1.—As a first example, we take the data given in Weems’ Air
Navigation, page 330. ‘ ’

o !
Observed altitude = H, = 29 483
D.R. latitude = +38 31
D.R. longitude = 76 56 West
Declination =d=+19 327
G.H.A. = 144 02
Hence assumed longitude = %7 o2 West

Diff. = LHA. =} 67 West
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The calculation would be arranged thus, taking Z as -+ 39°.

d " +19 32f7

K +64 14-5 A 15568 D 145 zZy +34?o
K~d 44 41-8 B 14823 E 9995
H, 29 46-9 4 + B 30301 D + E 10140 Zy +3541
H, 29 483 Z N. 881 W.
Intercept 1-6 towards Azimuth 271.9

If the altitude is greater than 80°, the differences between consecutive values
of C would normally be too small to give altitudes to 1’ or less; hence a decimal
is added in this insensitive part. 'T'he extra decimal is then also required in 4 and
B, s0 is given in the 4 column (Table I) when the entry there is less than 666. It
is, however, omitted from latitude 35° onwards, as the Sun cannot reach an altitude
of 80° in these latitudes, and stars are not observed at such high altitudes.
Similarly the extra decimal is given in column B (Table II) up to 10°. If, in any
calculation, either 4 or B appears without a decimal, the decimal is to be dropped
in 4+ B. '

Example 11.—L = —23° = 3525 W.=8E,d=—18° 46”3, H, = 81° 20"-0.

d —I§ 46-,3 o
K —23 12-1 A 3593 D 892 Z, +869g
K~d 4 25-8 B 1299 E 8889
H, 81 250 A+ B m D+E §7T1 Zy +312
H, 81 20.0 . 4 Z S. 1181 E.
Intercept 5-0 away Azimuth 61.9

Example TI1.—This is chosen to illustrate anegative Z,. L = +425° = 43°,
d=+45° 01"6, H, = 49° 49'-5.

d +4; orfé .
K +32 31-3 A4 10453 D 209 Z; +683
K~d - 12 303 B 1043 E 9346
H, 50 074 A+ B :@6 D+ E ;55 Z, -—19-8
H, 49 495 Z N. 487 W,
Intercept 17-9 away Azimuth 311-3

Example IV.—This is chosen to- illustrate an hour angle greater than go°, in
which case K is found as 180° — (180° — K), and Z, is negative. L = +441°,
h=255°W.=105°E., d = +38° 427, H, = 14° 50"-5.

d + 3§ 42"7 o
K +106 34-8 A 16461 D 137 Zy =222
K~d 67 52-x B 42306 E 390 ’
H, 4567 A+B 53857 D+Eszy  Z, 4y
H, 14 50-5 Z N.s512 E,
Intercept 6-2 away Azimuth 51.2

Notes. In these examples B has been interpolated to the decimals of a minute
in K~d. The greatest error in H, that could arise from neglecting this inter-
polation and using the nearest multiple of 0’5 in K~ d is o’-2, If, further, H, is
not interpolated, but taken to the nearest multiple of 0’3, it will not be in error
from these two neglects by more than 0’4, -

The azimuth Z, which arises in the form of an angle measured eastwards or
westwards (according to the hour angle) from the elevated pole, has here been




